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QUESTION 1

When a customer use Enterprise Manager to monitor and maintain their Exadata machine, which protocol does
enterprise manager uses to send and receive information about component failure event and status.

A.ILOM
B. ICMP
C.RPC
D. IPMI
E. SNMP

Correct Answer: E

QUESTION 2

The Exadata compute node, exadbs04, has been having issues for some time. The server had to be repaired and you
just received a new server. Your LVM snapshot was corrupt and now the compute node must be re-imaged with an
Oracle Support installation image.

Which three tasks must be performed in order to re-image the compute node? (Choose three.)

A. Create a CELLBOOT USB Flash Drive by using an external USB drive.

B. Mount the LVM backup image across the network and recover the system.

C. Remove exadbs04 from the RAC cluster and all associated Oracle Homes from the central inventory.

D. Reboot the new server by using a bootable recovery image from the external USB drive.

E. Reconfigure all site-specific settings (host name, IP addresses, NTP server, and so on).

Correct Answer: CDE

QUESTION 3

In which three cases would RMAN backup and recovery be a good strategy for migrating to the cloud? (Choose three.)
A. when the source platform is little endian, character set is AL32UTF8, and the architecture is multitenant

B. when moving an Oracle Data Guard physical standby database to the cloud

C. when you are migrating a database from a different database version and it might have a different character set
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D. when you are concerned about the endian nature of the database and want to perform conversions from different
formats

E. when a physical migration approach is feasible and physical database reorganization is no necessary

Correct Answer: BCE

QUESTION 4

Which CellCLI command is used to conclude that a storage server can be taken offline without impacting database
availability?

A. LIST GRIDDISK ATTRIBUTES name, status;

B. LIST CELLDISK ATTRIBUTES name, raidLevel, asmModeStatus;

C. LIST CELLDISK ATTRIBUTES name, raidLevel

D. LIST GRIDDISK ATTRIBUTES name, asmDeactivationOutcome;

E. LIST CELL ATTRIBUTES cellsrvStatus, flashCacheMode;

Correct Answer: D

Explanation: ASMDeactivationOutcome recall that grid disks can be deactivated, which is effectively taking them offline.
Since ASM mirroring ensures that the data is located on another disk, making this disk offline does not lose data.
However, if the mirror is offline, or is not present, then making this grid disk offline will result in loss of data. This
attribute shows whether the grid disk can be deactivated without loss of data. A value of "Yes" indicates you can
deactivate this grid disk without data loss. CellCLI> list griddisk attributes name, ASMDeactivationOutcome,

ASMModeStatus DBFS_DG_CD_02_cello1 Yes ONLINE DBFS_DG_CD_03_cell01 Yes ONLINE
DBFS_DG_CD_04_cell01 Yes ONLINE

QUESTION 5

The Exadata architecture is divided into two specific tiers: the database tier and the storage tier. What protocol do these
tiers use to communicate with each other?

A. iDB - Intelligent Database Protocol
B. InfiniBand protocol

C. Ethernet protocol

D. Secure Shell protocol

E. Fibre Channel protocol

Correct Answer: A

Reference: https://docs.oracle.com/cd/E50790_01/doc/doc.121/e50471/concepts.htm#SAGUG20333
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